STEP 2: Remove the hardware from the stock seat.
You will need to re-use the lever assembly along with
the two plastic end caps. (Figure 3)

PARTS INCLUDED

4 - Brackets 8 - 5/16" -18 Nyloc nuts
8 - Carriage Bolts 8 - 5/16" Flat Washers

8- M6-1.0x20 Bolts

TO INSURE YOUR SAFETY AND THE SAFETY
OF OTHERS AND AVOID PROPERTY DAMAGE
OR LOSS, PLEASE PAY CLOSE ATTENTION TO
ALL INSTRUCTIONS, WARNINGS, CAUTIONS
AND NOTES REGARDING THE USE AND CARE (Figure 3)
OF THIS PRODUCT

STEP 1: Remove the stock driver seat and place face-
down on a clean surface. Start by removing the bottom
cushion from the stock seat by pulling the release handle.
You will need to remove the 4 screws circled below (figure 1).
Once these bolts are removed you can pull the seat out.
After you remove the seat, the seat base in the KRX
should like (figure 2)

STEP 3: Mount the lever assembly to the included
bracket. The lever will stick out from the taller side
on the bracket. Be sure to use the plastic end caps
from the stock seats. (Figure 4)

(Figure 4)

(Figure 2)




STEP 4: Mount the bracket to your new seats.
There are two different brackets that come with
your new seats. The bracket that holds the slider
mechanism will mount to the passenger side of
each seat. Use the carriage bolts, washers and
nuts to mount the brackets to your new seats.
Hand tighten the carriage bolts so you will be able
to find the correct spacing to mount to your KRX.
(Figure 5) ~

(Figure 5)

WARNING

It is the users responsibility to comply with
local laws and regulations. This product
shall be used for off-highway use only.

A WARNING:

This product can expose you to chemicals,
which are known to the State of California to
cause cancer. For more information, visit
www.P65Warnings.ca.gov.

STEP 5: Mount your new seat and brackets

into your KRX. Make sure to leave the carriage
bolts hand tightened to find the correct spacing.
Use the included M6 bolts to mount the brackets
to the slider plate circled below. You will need to
turn the slider lever to get the seat to sit flat.
There is adjustment in the included brackets to
allow you to slide further forward or slide further
backward. Set according to your favored seating
position. (Figure 6)

(Figure 6)

STEP 6: Tighten the 4 carriage bolts once
the seat brackets have been fastened to
the KRX.

STEP 7: Repeat the previous steps to install
the passenger side seat.

RACING IS DANGEROUS, INCI-

DENTS WILL OCCUR RESULTING IN
INJURY AND DEATH. IN BEST CON-
DITIONS THIS PRODUCT MAY
LIMIT TRAUMA. THIS  PRODUCT
WILL NOT PREVENT TRAUMA
ASSOCIATED WITH RACING INCI-
DENTS. ONLY INSTALL OR USE

THIS PRODUCT WITH THE GUID-
ANCE OF A

CERTIFIED ENGINEER OR THE
USERS SANCTIONING ORANIZA-
TION. REPLACE THIS PRODUCT
AFTER ANY CRASH, FIRE OR ANY
EVIDENCE OF WEAR TO ANY OF ITS
MATERIALS OR COMPONENTS.
USER IS RESPONSIBLE TO
INSPECT THIS PRODUCT BEFORE
EVERY USE. THIS PRODUCT IS
DISTRIBUTED = WITHOUT ANY
WARRANTY. ACES RACING IS NOT
LIABLE FOR ANY INCIDENTS




